ATOMIC ENRGY CENTRAL SCHOOL -1, MUMBAI

WORKSHEET -3 2020-2021 Class : VI
Subject: MATHEMATICS Chapter 8 - DECIMALS
1)  Add the following.

2)

(a) 3.10, 1.07 (b) 6.45, 0.95 (c) 0.15, 0.51
(d) 59.65, 13.85 (e) 135.547, 201.508 (f) 86.44, 44.86
(g) 73.76, 37.67 (h) 0.80, 1.08 (i) 26.555, 2.438
(j) 9.005, 5.907 (k) 41.58, 81.34 (1) 3.25, 2.35

Subtract the following.

(a) 3.10 - 1.07 (b) 6.45 — 0.95 (c) 0.15 from 0.51
(d) 59.65 — 13.85 () 135.547 from 201.508 (f) 86.44 — 44.86
(g) 73.76 — 37.67 (h) 0.80 from 1.08 (i) 26.555 — 2.438
(j) 9.005 — 5.907 (K) 41.58 from 81.34 ()3.25- 2.35

Statement problems.

Prabhu bought 6 kg 500 g of apples, 2 kg 30 g of grapes and 10 kg 270 g of
mangoes. Find the total weight of fruits bought by him.

Rani’s office is at a distance of 7 km 350 m from her house. She travelled
1 km 500 m on foot and the rest by bus. Find the distance she travelled by bus.

Karuna spent Rs 59.50 for buying a greeting card and Rs 13.25 for a pen. How
much money did she spend in all?

Kavita bought 8 kg 650 g of apples. Out of this she gave 3 kg 80 g to her
friend. How much weight of apples are left with her?

Manoj travelled 5 km 75 m by bus, 2 km 200 m by auto rickshaw and 2 km
250 m on foot. How much distance did he travel in all?

Teja’s mother gave him Rs 100. He bought a notebook for Rs 43.50, a pen for
Rs 18.25 and a scale for Rs 3.25. How much money did he give back to his
mother?
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